-bash-4.2% cd /scratchfs/bes/gongjd/ReneSANCe-1.3.9/ReneSANCe-1.3.9-INSTALL/share/renesance/examples/101
-bash-4.2% 1s -lah

total 48K
drwxr-xr-x
drwxr-xr-x
-rw-r--r--
-rw-r--r--
-rw-r--r--
-rw-r--r--
-rwW-r--r--

4.0K
4.0K
1.9K
91
1.4K
22K
476

19:38
19:38
2023
2023
2023
2023
2023

physics
physics
physics
physics
physics
physics

Apr 13
Apr 13
Mar 29
Mar 29
Mar 29
Mar 29
Mar 29

gongjd
gongjd
gongjd
gongjd

foam.conf
index.conf
proc.conf
resl0l1. txt
sm.conf

-bash-4.2%
-bash-4.2%
total 12K
drwxr-xr-x
drwxr-xr-x
drwxr-xr-x
-bash-4.2%
-bash-4.2%
total 2.4M
drwxr-xr-x
drwxr-xr-x
-rw-r--r--
-rw-r--r--
-rw-r--r--
-rw-r--r--
-rw-r--r--
-rw-r--r--
-rw-r--r--
drwxr-xr-x
-rw-r--r--
-rw-r--r--

3 gongjd physics
5 gongjd physics
3 gongjd physics
cd ./101/

ls -alh

physics
physics
physics
physics
physics
physics
physics
physics
physics
physics
physics
physics

gongjd
gongjd
gongjd
gongjd
gongjd
gongjd
gongjd
gongjd
gongjd
gongjd
gongjd
gongjd

L R e N = Y Y

FoamBorn.root
foam.conf
FoamHard. root
FoamVirt.root
index.conf
proc.conf
resl0l.txt
Results
sm.conf
test101. txt




vim ./proc.conf

costhcut
thetacut

irun
iborn
1ged
lew

exploreBorn : true
exploreVirt : true
exploreHard : true

printLHE : true
printROOT : true




Attaching file ./events_LO.root as

physics
physics
physics
physics
physics
physics
physics
physics

./events_

4.0K Apr
4.0K Apr
12 Apr
685M Apr
31M Apr
12 Apr
781M Apr
70M Apr
LO.root

./events_LO.root
./events_LO.root

-bash-4.2% 1s -alh
total 1.6G
drwxr-xr-x 2 gongjd
drwxr-xr-x 3 gongjd
-rw-r--r-- 1 gongjd
-rw-r--r-- 1 gongjd
-rw-r--r-- 1 gongjd
-rw-r--r-- 1 gongjd
-rw-r--r-- 1 gongjd
-rw-r--r-- 1 gongjd
-bash-4.2% root -1
root
(TFile *) 0x2c763a0
root .1s
TFilex*

TFilex

KEY: TTree

KEY: TTree
root

events_born;2
events_born;1
events_born->Print()

15
15
13
13
13
13
13
13

14:
13:
21:
21:
21:
21:
2105
21:

18 .
47 ..
events_LO.dat
events_LO.lhe
events_LO.root
events_NLO.dat
events_NLO.lhe
events_NLO.root

56
53
56
56
56
56

_fileo...

born events [current cycle]
born events [backup cycle]

Khkkkkrkkkhkhkhkkrkkkhkhkhhhhkhkrkhkhhkhhhhkkrkhhhkhhhrhhhhhhkkrikhhhkhhhhhkrkhhhhhrrkkkhkhhkhhrkkk

*Tree

*Entries :
*

............................................................................

tevents_born:

1000000

born
: Total

events

: Tree compression factor
******************************************************************************

*Br 0 :weight_born : weight_born
*Entries : 1000000 : Total Size=
*Baskets : 237 : Basket Size=
*

*Br 1 :px_born : px_born[3]/D
*Entries : 1000000 : Total Size=
*Baskets : 707 : Basket Size=
*

*Br 2 :py_born : py_born /D
*Entries : 1000000 : Total Size=
*Baskets : 707 : Basket Size=
*

*Br 3 :pz_born : pz_born[3]/D
*Entries : 1000000 : Total Size=
*Baskets : 707 : Basket Size=
*

*Br 4 :E_born : E_born[3]/D
*Entries : 1000000 : Total Size=
*Baskets : 707 : Basket Size=

/D

8025228
1231360

24071734
3692544

24071734
3692544

24071734
3692544

24071023
3692544

104311838 bytes

5 5
5 5

x

#

ittaching file ./events_NLO.root as

TFile *) 0x1219cb0

‘oot
Filex*
TFile*

KEY: TTree
KEY: TTree
KEY: TTree

‘oot

Tree
'Entries

‘Entries
» Baskets

‘Br il
‘Entries
‘Baskets

‘Entries
‘Baskets

‘Br z)
‘Entries
‘Baskets

*

File Size = 32035003 *

= 3.26

*
bytes File Size = 73663 *
bytes Compression= 108.88 *
bytes File Size = 10388645 *
bytes Compression=  2.32 *

*
bytes File Size = 10389361 *
bytes Compression=  2.32 *
bytes File Size = 10513826
bytes Compression= 2.29
bytes File Size = 648322
bytes Compression= 37.11

* ok ok ok F F* F

‘Br 4
‘Entries
‘Baskets

.1ls

./events_NLO.root
./events_NLO.root
tot events [current cycle]
tot events [backup cycle]
tot events

1000000

1000000
109

events_tot;3
events_tot;2
events_hardvar;1l
events_tot->Print()
AR A KK I KR KK AR AR KRR AR KA KA A AR AR A AR A AR ARKRARAARAKRAR A AR A AR A A A I AR A AR AR A AR A A KA A A AR A hhAhhx
:events_tot: tot events
: Total

: welght_tot
: Total
: Basket
tpx_tot

1000000 :
315 :
:py_tot :
1000000 :
315 :
rpz_tot :
1000000 :
315 :

:E_tot :
1000000 :
315 :

............................................................................

Size=
Size=

_fileoO...

: Tree compression factor
hkkkkkhkhkhkhkkhkhkhkhhkhkhhkhhkhhhkhhkhhhkhhkhhhkhhkhhhhhkhhhhhkhhhkhhkhhhkhhkhhhkhhhhhkhhhhhkhhkhkhkihhk

Br 0 :weight_tot /D

8011566
1231360

24031508
3692544

24031508
3692544

24031508
3692544

24031189
3692544

104137660 bytes

File Size =

= 1.43

bytes
bytes

File Size
Compression

File Size =
Compression=

File Size =
Compression=

File Size
Compression

File Size
Compression

72929553

537792
14.89

19221865
1.25

19222342
1.25

19289474
1.25

14646609
1.64

*
*
*

% ok ok ok ok ok ok ok ok ok o 3 o b 3k ok ok ok ok o



weight_born
W10° htemp
Entries 1000000
1 —
000_ Mean 1
- Std Dev 0
800—
800—
400
200—
P et BT GRS It e Wi s PR el Srerarel S Ml S
0 04 06 08 1 12 14 2 22
_born
pz_born
¥10° hiemp
1000— " Entries 3000000
- Mean 0
L Std Dev 81.23
L
B00—
-
-
600—
400+~
N
L
200—
L
c—...l. | (APEPRR | | <5 )
-100 50 o 100

1000

px_born py_born
PALN htemp 10’ hiemp
[-_ Enwries 3000000 - 2 Enfries 3000000
Maan 0 1000— Mean 0
: Sid Dev 43.72 : Sid Dev 42 66
N 800—
o 600—
- 400—
- m—.
N (I A Srmmeroes s b e P S o B e
h -100 -50 0 «“ 100 A TN P B e b st e S B
px_bom 9 50 0 50 100
py_born
E_born
¥10’ hlemp
- Entries 3000000
2000: Mean B83.33
18001 SidDev 5893
16004~
14004—
1200
10004
800
500
00 root -l events_LO.root
200
ol (O FOSTN SAIN VIR CIVTVR YA VN [T R YUY U EOT GO YT U | 1 glg
0 20 40 50 80 100 120
E_bom



=
U

weigt ot ~~  pxtot py_tot

|

sl 21

e

o Entries 1000000 m: Enies 3000000 7°°: Entras 3000000

— Mean 0.3058 - Mean -18210-10 - Mean -1.889¢-10
600{— StdDev  0.9521 600i— | Std Dav 4361 600 — (StdDov 4385
500{— 500 500{—
400(— 400/~ 400
300— 300~ 300—

- 100— 100{—

e G T e ~ : it T R

— | LNSSTYIRY VR W LLIE SO S YO L [ O VDY S | I - 0 50 100 -100 -50 0 50 100

-05 0 05 1 px_tot py_tot
weight_tol .
pz_tot E_tot

v10 htemp 18001 hiemp

— Entries 3000000 Enties 3000000

- Mean -9.005e-11 Mean 8333

- SidDev 7979 e SidDev 5683

[ 1400

— 1200

- 1000

— 800

: i root -l events_NLO.root

= 400

- 200

o 0 O] LI (PR (PRI LIPRRPUPIS | PRPWOPO - - [N

ol I B } s } et Lol 0 20 40 60 80 100 120

100 50 0 50 100 E_tot



